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Kochi: Abhilash Tomy may be a solo circumnavigator of the world. braving the elements and his own
demons. but at heart. he remains his mama's little boy. The greater the risk he takes, the more important it
becomes to him to get his mother Valsamma's "Permission". Around Saturday noon, in their Kochi home.
Abhilash's parents Lt Cdr VC Tomy (retd) and Valsamma were understandably elated. While watching the
live-streaming video of their son sailling into Les Sables d'Olonne Marina. France. after 236 days on the high
seas, Tomy said that his son's achievement will motivate more Indians will motivate more Indians to love
sailing. When asked if Abhilash will sail for the next edition of the Golden Globe Race (GGR) aiming for pole
position. Tomy said he would not be surprised if he does but then quickly glances at valsamma for
confirmation.

Often in the past. Abhilassh had to seek 'external high-profile’ help to convince his mother to grant permission
tor his sailing adventures. In 2012, for instance, Vice Admiral (retired) Manohar Prahlad Awati, known as the
tather of the Indian Navy's circumnavigation adventures and Abhilash's primary mentor and guru. came to
Tomy's house in Kochi to convince Valsamma to let Abhilash sail in the 151-day circumnavigation Sagar
Parikrama on Mhadei. "It 1s not that I would oppose his dreams. But he feels happy and confident to get my
approval and blessing." Valsamma told TOI at her house at Kandanad in Kochi. Valsamma still remembers
how upset Abhilash was after failing in the GGR in 2018. She painfully recalls how Abhilash survived three
days in Thuriya until the rescue team found him. He could not move from the boat's bunk to fetch water or
tood and he survived on a few packets of ice tea.

"He fought death with nearly-functionless legs until he was rescued 70 hours later. [ witnessed his excruciating
pain. In the hospital bed, he reminded me of him as a baby as he was literally crawling on the bed. He
eventually made his baby steps and he learnt to walk again. In hospital. I used to tell him 'learn to work. we
have to sail again'; but I never thought he would take it seriously and reattempt the gruelling 30.000-mile race
four years later. He convinced me he would be safe and we prayed for his safe return.” his mom Valsamma
said.

"As always 1t 18 his life and choices. I have not opposed any of his decisions and I will not. Sailing has been
his sole passion since he mastered swimming. When he was 14, he took me for a short sail in a small boat in
the backwaters and the way he controlled the boat amazed me,"Tomy said.

Sub questions

Question Number : 1 Question Id : 68634013871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to this paragraph who 1s known as the father of the Indian Navy's

Circumnavigation adventures?

—

. VC Tomy

2

. Monahar Prahlad Awati

%]

. Valsamma
4. Abhilash Tomy

Options :

68634054801. 1
68634054802. 2
68634054803. 3
68634054804. 4



Question Number : 2 Question Id : 68634013872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Synonym of the term used in this passage 'Elate’ is :
1. Proud
2. Sad
3. Elemi
4. Surprised
Options :
68634054805. 1
68634054806. 2

68634054807. 3
68634054808. 4

Question Number : 3 Question Id : 68634013873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is Abhilash's primary mentor and guru?
1. Manohar Parekh
2. Retired vice Adlmiral M.P Awati
3. Lt Cdr VC Tomy
4. Kirsten Neushafer
Options :
68634054809. 1
68634054810. 2

68634054811. 3
68634054812. 4

Question Number : 4 Question Id : 68634013874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GGR stands for:

1. Gold Globe race

| ]

. Global golden race
3. Golden globe race

4. Golden global racist



Options :

68634054813. 1
68634054814. 2
68634054815. 3
68634054816. 4

Question Number : 5 Question Id : 68634013875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One word for sail all the way round is:

1. Circlenavilate

| S

. Circumshipet
3. Circlenavigate
4. Circumnavigate

Options :

68634054817. 1
68634054818. 2
68634054819. 3
68634054820. 4

Question Id : 68634013870 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
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: N.A Minimum Instruction Time : 0
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Question Label : Comprehension



Kochi: Abhilash Tomy may be a solo circumnavigator of the world. braving the elements and his own
demons. but at heart. he remains his mama's little boy. The greater the risk he takes, the more important it
becomes to him to get his mother Valsamma's "Permission". Around Saturday noon, in their Kochi home.
Abhilash's parents Lt Cdr VC Tomy (retd) and Valsamma were understandably elated. While watching the
live-streaming video of their son sailling into Les Sables d'Olonne Marina. France. after 236 days on the high
seas, Tomy said that his son's achievement will motivate more Indians will motivate more Indians to love
sailing. When asked if Abhilash will sail for the next edition of the Golden Globe Race (GGR) aiming for pole
position. Tomy said he would not be surprised if he does but then quickly glances at valsamma for
confirmation.

Often in the past. Abhilassh had to seek 'external high-profile’ help to convince his mother to grant permission
tor his sailing adventures. In 2012, for instance, Vice Admiral (retired) Manohar Prahlad Awati, known as the
tather of the Indian Navy's circumnavigation adventures and Abhilash's primary mentor and guru. came to
Tomy's house in Kochi to convince Valsamma to let Abhilash sail in the 151-day circumnavigation Sagar
Parikrama on Mhadei. "It 1s not that I would oppose his dreams. But he feels happy and confident to get my
approval and blessing." Valsamma told TOI at her house at Kandanad in Kochi. Valsamma still remembers
how upset Abhilash was after failing in the GGR in 2018. She painfully recalls how Abhilash survived three
days in Thuriya until the rescue team found him. He could not move from the boat's bunk to fetch water or
tood and he survived on a few packets of ice tea.

"He fought death with nearly-functionless legs until he was rescued 70 hours later. [ witnessed his excruciating
pain. In the hospital bed, he reminded me of him as a baby as he was literally crawling on the bed. He
eventually made his baby steps and he learnt to walk again. In hospital. I used to tell him 'learn to work. we
have to sail again'; but I never thought he would take it seriously and reattempt the gruelling 30.000-mile race
four years later. He convinced me he would be safe and we prayed for his safe return.” his mom Valsamma
said.

"As always 1t 18 his life and choices. I have not opposed any of his decisions and I will not. Sailing has been
his sole passion since he mastered swimming. When he was 14, he took me for a short sail in a small boat in
the backwaters and the way he controlled the boat amazed me,"Tomy said.

Sub questions

Question Number : 1 Question Id : 68634013871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to this paragraph who 1s known as the father of the Indian Navy's

Circumnavigation adventures?

—

. VC Tomy

2

. Monahar Prahlad Awati

%]

. Valsamma
4. Abhilash Tomy

Options :

68634054801. 1
68634054802. 2
68634054803. 3
68634054804. 4



Question Number : 2 Question Id : 68634013872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Synonym of the term used in this passage 'Elate’ is :
1. Proud
2. Sad
3. Elemi
4. Surprised
Options :
68634054805. 1
68634054806. 2

68634054807. 3
68634054808. 4

Question Number : 3 Question Id : 68634013873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is Abhilash's primary mentor and guru?
1. Manohar Parekh
2. Retired vice Adlmiral M.P Awati
3. Lt Cdr VC Tomy
4. Kirsten Neushafer
Options :
68634054809. 1
68634054810. 2

68634054811. 3
68634054812. 4

Question Number : 4 Question Id : 68634013874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GGR stands for:

1. Gold Globe race

| ]

. Global golden race
3. Golden globe race

4. Golden global racist



Options :

68634054813. 1
68634054814. 2
68634054815. 3
68634054816. 4

Question Number : 5 Question Id : 68634013875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One word for sail all the way round is:

1. Circlenavilate

| S

. Circumshipet
3. Circlenavigate
4. Circumnavigate

Options :

68634054817. 1
68634054818. 2
68634054819. 3
68634054820. 4
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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Kochi: Abhilash Tomy may be a solo circumnavigator of the world. braving the elements and his own
demons. but at heart. he remains his mama's little boy. The greater the risk he takes, the more important it
becomes to him to get his mother Valsamma's "Permission". Around Saturday noon, in their Kochi home.
Abhilash's parents Lt Cdr VC Tomy (retd) and Valsamma were understandably elated. While watching the
live-streaming video of their son sailling into Les Sables d'Olonne Marina. France. after 236 days on the high
seas, Tomy said that his son's achievement will motivate more Indians will motivate more Indians to love
sailing. When asked if Abhilash will sail for the next edition of the Golden Globe Race (GGR) aiming for pole
position. Tomy said he would not be surprised if he does but then quickly glances at valsamma for
confirmation.

Often in the past. Abhilassh had to seek 'external high-profile’ help to convince his mother to grant permission
tor his sailing adventures. In 2012, for instance, Vice Admiral (retired) Manohar Prahlad Awati, known as the
tather of the Indian Navy's circumnavigation adventures and Abhilash's primary mentor and guru. came to
Tomy's house in Kochi to convince Valsamma to let Abhilash sail in the 151-day circumnavigation Sagar
Parikrama on Mhadei. "It 1s not that I would oppose his dreams. But he feels happy and confident to get my
approval and blessing." Valsamma told TOI at her house at Kandanad in Kochi. Valsamma still remembers
how upset Abhilash was after failing in the GGR in 2018. She painfully recalls how Abhilash survived three
days in Thuriya until the rescue team found him. He could not move from the boat's bunk to fetch water or
tood and he survived on a few packets of ice tea.

"He fought death with nearly-functionless legs until he was rescued 70 hours later. [ witnessed his excruciating
pain. In the hospital bed, he reminded me of him as a baby as he was literally crawling on the bed. He
eventually made his baby steps and he learnt to walk again. In hospital. I used to tell him 'learn to work. we
have to sail again'; but I never thought he would take it seriously and reattempt the gruelling 30.000-mile race
four years later. He convinced me he would be safe and we prayed for his safe return.” his mom Valsamma
said.

"As always 1t 18 his life and choices. I have not opposed any of his decisions and I will not. Sailing has been
his sole passion since he mastered swimming. When he was 14, he took me for a short sail in a small boat in
the backwaters and the way he controlled the boat amazed me,"Tomy said.

Sub questions

Question Number : 1 Question Id : 68634013871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to this paragraph who 1s known as the father of the Indian Navy's

Circumnavigation adventures?

—

. VC Tomy

2

. Monahar Prahlad Awati

%]

. Valsamma
4. Abhilash Tomy

Options :

68634054801. 1
68634054802. 2
68634054803. 3
68634054804. 4



Question Number : 2 Question Id : 68634013872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Synonym of the term used in this passage 'Elate’ is :
1. Proud
2. Sad
3. Elemi
4. Surprised
Options :
68634054805. 1
68634054806. 2

68634054807. 3
68634054808. 4

Question Number : 3 Question Id : 68634013873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is Abhilash's primary mentor and guru?
1. Manohar Parekh
2. Retired vice Adlmiral M.P Awati
3. Lt Cdr VC Tomy
4. Kirsten Neushafer
Options :
68634054809. 1
68634054810. 2

68634054811. 3
68634054812. 4

Question Number : 4 Question Id : 68634013874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GGR stands for:

1. Gold Globe race

| ]

. Global golden race
3. Golden globe race

4. Golden global racist



Options :

68634054813. 1
68634054814. 2
68634054815. 3
68634054816. 4

Question Number : 5 Question Id : 68634013875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One word for sail all the way round is:

1. Circlenavilate

| S

. Circumshipet
3. Circlenavigate
4. Circumnavigate

Options :

68634054817. 1
68634054818. 2
68634054819. 3
68634054820. 4

Sub-Section Number : 2
Sub-Section Id : 686340451
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634013876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the options below:

1. TRIGONUMETRY

| ]

. TRIGOONOMITEY
3. TRIGONOMETRY
4. TRIGUNOMITRY

Options :

68634054821. 1
68634054822. 2
68634054823. 3
68634054824. 4

Question Number : 6 Question Id : 68634013876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the options below:

1. TRIGONUMETRY

| ]

. TRIGOONOMITEY
3. TRIGONOMETRY

4. TRIGUNOMITRY

Options :

68634054821. 1
68634054822 2
68634054823. 3
68634054824. 4

Question Number : 6 Question Id : 68634013876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the options below:

1. TRIGONUMETRY

| B

. TRIGOONOMITRY
3. TRIGONOMETREY
4, TRIGUNOMITRY

Options :

68634054821. 1

68634054822.2

68634054823. 3
68634054824. 4

Question Number : 7 Question Id : 68634013877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

My very thoughts were like the rustle of dead leaves

1. welcome

b2

Nively

L¥%]

. ghostly
4. funny

Options :



68634054825. 1
68634054826. 2
68634054827. 3
68634054828. 4

Question Number : 7 Question Id : 68634013877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

My very thoughts were like the rustle of dead leaves

1. welcome

| B

Nively
3. ghostly
4. funny

Options :

68634054825. 1
68634054826. 2
68634054827. 3
68634054828. 4

Question Number : 7 Question Id : 68634013877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

My very thoughts were like the rustle of dead leaves

1. welcome

[ )

lively

b

3. ghostly
4. funny

Options :

68634054825. 1
68634054826. 2
68634054827. 3
68634054828. 4

Question Number : 8 Question Id : 68634013878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word REPREHENSIBLE' is.

1. Culpable

d

2. commendable
3. Fearful
4. Ignorant

Options :

68634054829. 1
68634054830. 2
68634054831. 3
68634054832. 4

Question Number : 8 Question Id : 68634013878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word REPREHENSIBLE' is.

1. Culpable

| S]

. commendable
3. Fearful
4. Ignorant

Options :

68634054829. 1
68634054830. 2
68634054831.3
68634054832. 4

Question Number : 8 Question Id : 68634013878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word REPREHENSIBLE' is.

1. Culpable

| B

. commendable
3. Feartul
4. Ignorant
Options :

68634054829. 1
68634054830. 2



68634054831. 3
68634054832. 4

Question Number : 9 Question Id : 68634013879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable synonym for the given word:
Father
1. Fluctuate
2. Flirt
3. Stable
4. Overtlow
Options :
68634054833. 1
68634054834. 2

68634054835. 3
68634054836. 4

Question Number : 9 Question Id : 68634013879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable synonym for the given word:
Father
1. Fluctuate
2. Flirt
3. Stable
4. Overtlow
Options :
68634054833. 1
68634054834. 2

68634054835. 3
68634054836. 4

Question Number : 9 Question Id : 68634013879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the suitable synonym for the given word:
Father

1. Fluctuate

[ )

. Flirt

LF%]

. Stable
4. Overtlow

Options :

68634054833. 1
68634054834. 2
68634054835. 3
68634054836. 4

Question Number : 10 Question Id : 68634013880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below

A firefighter was injured while trying douse a blaze northeast Delhi's Shastri park area
Saturday

1. to. at. on

[ )

for. in. at
3. to. in. on
4. out. at. in

Options :

68634054837. 1
68634054838. 2
68634054839. 3
68634054840. 4

Question Number : 10 Question Id : 68634013880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below

A firefighter was injured while trying douse a blaze northeast Delhi's Shastri park area
Saturday

1. to. at. on
2. for. in. at
3. to. in. on
4. out, at, in
Options :
68634054837. 1
68634054838. 2

68634054839. 3
68634054840. 4

Question Number : 10 Question Id : 68634013880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below

A firefighter was injured while trying douse a blaze northeast Delhi's Shastri park area
Saturday

1. to. at. on
2. for. in. at
3. to. in. on
4. out. at. in
Options :
68634054837. 1
68634054838. 2

68634054839. 3
68634054840. 4

Question Number : 11 Question Id : 68634013881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



—
The value of \/U“—B() 18

0.00121

170
11

| )

170

A
21
Options :
68634054841. 1
68634054842. 2
68634054843.3
68634054844. 4

Question Number : 11 Question Id : 68634013881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of \/ﬁ 18:

0.00121

)

170
21

Options :

68634054841. 1
68634054842. 2
68634054843. 3
68634054844. 4

Question Number : 11 Question Id : 68634013881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of \/ﬁ 18

0.00121

| )

170

A
21
Options :
68634054841. 1
68634054842. 2
68634054843.3
68634054844. 4

Question Number : 12 Question Id : 68634013882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of a machine depreciates by 15% annually. If the present value of machine 1s ¥1.50,000 then what
will be its value after 2 years?

1.21.00.000
2. 21,08,375
3.21.58.000
4. 372250

Options :

68634054845. 1
68634054846. 2
68634054847. 3
68634054848. 4

Question Number : 12 Question Id : 68634013882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of a machine depreciates by 15% annually. If the present value of machine 1s 21.50.000 then what
will be its value after 2 years?

1. 21.00.000
2. 21.08,375
3. 21.58,000
4. 372250

Options :

68634054845. 1
68634054846. 2
68634054847. 3
68634054848. 4

Question Number : 12 Question Id : 68634013882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of a machine depreciates by 15% annually. If the present value of machine 1s 21.50.000 then what
will be its value after 2 years?

1.21.00.000
2. 21,08,375
3. 21.58.000
4. F72250

Options :

68634054845. 1
68634054846. 2
68634054847.3
68634054848. 4

Question Number : 13 Question Id : 68634013883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cost price of an item 1s 88% of its selling price. then the profit percentage will be: (correct to two places
of decimal)

1. 18.20%

2
e
[ -}
[ ]
[=)]
[=]
o

3.15.28%

4. 13.64%



Options :

68634054849. 1
68634054850. 2
68634054851. 3
68634054852. 4

Question Number : 13 Question Id : 68634013883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cost price of an item 1s 88% of its selling price. then the profit percentage will be: (correct to two places
of decimal)

1. 18.20%

[ B

o

!

[ ]

=]
=]

5

4. 13.64%

Options :

68634054849. 1
68634054850. 2
68634054851. 3
68634054852. 4

Question Number : 13 Question Id : 68634013883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cost price of an item 1s 88% of its selling price. then the profit percentage will be: (correct to two places
of decimal)

1. 18.20%

2

e

!

[ ]

[=)]
[=]

o

4. 13.64%

Options :

68634054849. 1
68634054850. 2
68634054851. 3
68634054852. 4

Question Number : 14 Question Id : 68634013884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A bus runs at a speed of 30 knv/'h for the first 12 minutes and at a speed of 45km/h for the next 8§ minutes. The
average speed of the bus for the entire journey (in km/h) is.

1. 30

4. 40

Options :

68634054853. 1
68634054854. 2
68634054855. 3
68634054856. 4

Question Number : 14 Question Id : 68634013884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bus runs at a speed of 30 knv/h for the first 12 minutes and at a speed of 45km/h for the next 8§ minutes. The
average speed of the bus for the entire journey (in km/h) is.

1. 30

| B

.35
3. 36
4. 40

Options :

68634054853. 1
68634054854. 2
68634054855.3
68634054856. 4

Question Number : 14 Question Id : 68634013884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bus runs at a speed of 30 kan/h for the first 12 minutes and at a speed of 45km/h for the next 8 minutes. The
average speed of the bus for the entire journey (in kim/h) is.

1. 30

[ )

35

3. 36

4. 40



Options :

68634054853. 1
68634054854. 2
68634054855. 3
68634054856. 4

Question Number : 15 Question Id : 68634013885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of length. breath and height of a cuboid 1s 19cm. If the length of its longest diagonal is 11em, then
what is its surface area?

1. 162 em?

[ )

. 180 cm?
3.216 em?

4.240 em?

Options :

68634054857. 1
68634054858. 2
68634054859. 3
68634054860. 4

Question Number : 15 Question Id : 68634013885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of length, breath and height of a cuboid 1s 19em. If the length of its longest diagonal 18 11em, then
what 1s its surface area?

1. 162 em?

[ )

. 180 em?
3.216 cm?

4. 240 em?

Options :

68634054857. 1
68634054858. 2
68634054859. 3
68634054860. 4

Question Number : 15 Question Id : 68634013885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of length. breath and height of a cuboid 1s 19cm. If the length of its longest diagonal 15 11em, then
what is its surface area?

1. 162 em?

[ ]

180 em?
3.216 cm?

4. 240 em?

Options :

68634054857. 1
68634054858. 2
68634054859. 3
68634054860. 4

Question Number : 16 Question Id : 68634013886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A letter from these matrices can be represented first by its row and then the column number.

0112|314 S|16 |7 |8
O|F|OIM|S|RI|S|IA[T|D|I

SIR|F|O|M||6T|P|A|T|D
20 M|S|R|F||7|T(D|T1|P|A
3IR|F|O|M|S||&|P|A D1
4IM|S(R|F[O(9/D|IT|P|A|T

Identify the correct set for the word "SOAP"

1. 01, 03,79, 85
2:22.13. 59, 86,
3.22,20,97,98
4,22, 20, 86, 85

Options :

68634054861. 1

68634054862. 2

68634054863. 3
68634054864. 4

Question Number : 16 Question Id : 68634013886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from these matrices can be represented first by its row and then the column number.

0112314 S |16 | F|8 |9
O[F|OIM|S|RI|IS|IA[T|D|I
I1I/S|R|[F|O[M|l6|1 |P|A|[T|D
20 M|S|R|F||7|T(D|I1|P|A
3|IR|F|O|M|S||8|P|A|T|D|I
4 I M|S|IR|IF|O|9|D|T|P|A|T

Identify the correct set for the word "SOAP"

1. 01, 03.79, 85
2.22,13, 59, 86,
3.22, 20,97, 98
4. 22, 20, 86, 85

Options :

68634054861. 1

68634054862. 2

68634054863. 3
68634054864. 4

Question Number : 16 Question Id : 68634013886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from these matrices can be represented first by its row and then the column number.

0112314 S |16 | F|8 |9
O[F|OIM|S|RI|IS|IA[T|D|I
I1I/S|R|[F|O[M|l6|1 |P|A|[T|D
20 M|S|R|F||7|T(D|I1|P|A
3|IR|F|O|M|S||8|P|A|T|D|I
4 I M|S|IR|IF|O|9|D|T|P|A|T

Identify the correct set for the word "SOAP"

1. 01, 03.79, 85
2.22,13, 59, 86,
3.22, 20,97, 98
4. 22, 20, 86, 85

Options :

68634054861. 1

68634054862. 2

68634054863. 3
68634054864. 4

Question Number : 17 Question Id : 68634013887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles are there in the following figure?

N

; >,
/' N
A = “5‘
1.10
2.12
3.14
4.6

Options :

68634054865. 1
68634054866. 2
68634054867. 3
68634054868. 4



Question Number : 17 Question Id : 68634013887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles are there in the following figure?

N
P
1. 10
2.12
3. 14
4.6

Options :

68634054865. 1
68634054866. 2
68634054867. 3
68634054868. 4

Question Number : 17 Question Id : 68634013887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles are there in the following figure?

9
S kN
1. 10
2. 12
3. 14
4.6

Options :

68634054865. 1
68634054866. 2
68634054867. 3
68634054868. 4

Question Number : 18 Question Id : 68634013888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fig(x) 1s embedded in which of the following alternatives?

Fig(X)
'\

LS
i

3

4,

Options :

68634054869. 1
68634054870. 2
68634054871. 3
68634054872. 4

Question Number : 18 Question Id : 68634013888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fig(x) 1s embedded in which of the following alternatives?

Fig(X)
'\

5[5
i

3

1,

Options :

68634054869. 1
68634054870. 2
68634054871. 3
68634054872. 4

Question Number : 18 Question Id : 68634013888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fig(x) 1s embedded in which of the following alternatives?

Fig(X)
'\

5[5
i

3

1,

Options :

68634054869. 1
68634054870. 2
68634054871. 3
68634054872. 4

Question Number : 19 Question Id : 68634013889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A group of four inter-related words is given. Choose another group with similar relationship, from the
following alternatives.

Tehsil: District: State: Country
1. Metropolitan: Megalopolis: Town: City
2. Block: Colony : Zone: city
3. Province: District: State: Country
4. Madhya Pradesh: Maharashtra: Mumbai : Victoria Terminus

Options :

68634054873. 1
68634054874. 2
68634054875. 3
68634054876. 4

Question Number : 19 Question Id : 68634013889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A group of four inter-related words is given. Choose another group with similar relationship. from the
tollowing alternatives.

Tehsil: District: State: Country
1. Metropolitan: Megalopolis: Town: City
2. Block: Colony : Zone: city
3. Province: District: State: Country
4. Madhya Pradesh: Maharashtra: Mumbai : Victoria Terminus

Options :

68634054873. 1
68634054874. 2
68634054875.3
68634054876. 4

Question Number : 19 Question Id : 68634013889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A group of four inter-related words 1s given. Choose another group with similar relationship. from the
following alternatives.

Tehsil: District: State: Country
1. Metropolitan: Megalopolis: Town: City
2. Block: Colony : Zone: city
3. Province: District: State: Country
4. Madhya Pradesh: Maharashtra: Mumbai : Victoria Terminus

Options :

68634054873. 1
68634054874. 2
68634054875. 3
68634054876. 4

Question Number : 20 Question Id : 68634013890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be best represented by the figure below:

A. Judge. Thief. criminal

B. Vegetable. Potato. Cabbage
C. Furniture. Table. Chair

D. Family. Husband. Wife

E. Year, Week, Day

Choose the correct answer trom the options given below:

1.A.B. Conly

| ]

.B. C.D only
3.C.D.E only
4.B.D. E only

Options :

68634054877. 1
68634054878. 2
68634054879. 3
68634054880. 4



Question Number : 20 Question Id : 68634013890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be best represented by the figure below:

A. Judge. Thief. criminal

B. Vegetable. Potato. Cabbage
C. Furniture, Table. Chair

D. Family, Husband. Wife

E. Year, Week, Day

Choose the correct answer from the options given below:

1. A.B. C only
2.B.C.D only
3.C.D.E only
4.B.D. E only

Options :

68634054877. 1
68634054878. 2
68634054879. 3
68634054880. 4

Question Number : 20 Question Id : 68634013890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be best represented by the figure below:

A. Judge. Thief. eriminal

B. Vegetable. Potato. Cabbage
C. Furniture, Table, Chair

D. Family. Husband. Wife

E. Year, Week, Day

Choose the correct answer from the options given below:

1. A, B. C only

-

.B. C.D only
3.C.D.E only
4.B.D. E only

Options :

68634054877. 1
68634054878. 2
68634054879. 3
68634054880. 4

Question Number : 21 Question Id : 68634013891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name of the short-range ballistic missile which was recently test-launched by India.

1. Prithvi-11

[

 Agm-V
3. Vikas-II
4. Bhim-I

Options :

68634054881. 1
68634054882. 2
68634054883. 3
68634054884. 4

Question Number : 21 Question Id : 68634013891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name of the short-range ballistic missile which was recently test-launched by India.
1. Prithvi-IT
2. Agm-V
3. Vikas-II
4, Bhim-I

Options :

68634054881. 1
68634054882. 2
68634054883. 3
68634054884. 4

Question Number : 21 Question Id : 68634013891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Name of the short-range ballistic missile which was recently test-launched by India.
1. Prithvi-II
2. Agni-V
3. Vikas-II
4. Bhim-I

Options :

68634054881. 1
68634054882. 2
68634054883. 3
68634054884. 4

Question Number : 22 Question Id : 68634013892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following states is also known as " Land of Red river and Blue hills"?
1. Asgsam
2. Sikkim
3. Manipur
4. Arunachal Pradesh
Options :

68634054885. 1
68634054886. 2



68634054887. 3
68634054888. 4

Question Number : 22 Question Id : 68634013892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following states is also known as " Land of Red river and Blue lulls"?

1. Assam
2. Sikkim
3. Manipur
4. Arunachal Pradesh

Options :

68634054885. 1

68634054886. 2

68634054887. 3
68634054888. 4

Question Number : 22 Question Id : 68634013892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following states is also known as " Land of Red river and Blue hills"?

1. Assam

2. Sikkim

L N]

. Manipur
4. Arunachal Pradesh

Options :

68634054885. 1
68634054886. 2
68634054887. 3
68634054888. 4

Question Number : 23 Question Id : 68634013893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the deputy prime minister who subsequently became the Prime Minister of India?

1. V. P. Singh

| ]

. Moraji Desai
3. Deve Gouda

4. Lal Bahadur Shastri

Options :

68634054889. 1
68634054890. 2
68634054891. 3
68634054892. 4

Question Number : 23 Question Id : 68634013893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the deputy prime minister who subsequently became the Prime Minister of India?
1. V. P. Singh
2. Moraji Desai
3. Deve Gouda

4. Lal Bahadur Shastri

Options :

68634054889. 1
68634054890. 2
68634054891. 3
68634054892. 4

Question Number : 23 Question Id : 68634013893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the deputy prime minister who subsequently became the Prime Minister of India?

1. V. P. Singh

| ]

. Moraji Desai

3. Deve Gouda

4. Lal Bahadur Shastri
Options :

68634054889. 1
68634054890. 2



68634054891. 3
68634054892. 4

Question Number : 24 Question Id : 68634013894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a Water Harvesting Technique practiced in the state of Rajasthan?

1. Kattas

| ]

. Khadims
3. Tals
4. Ahars

Options :

68634054893. 1
68634054894. 2
68634054895. 3
68634054896. 4

Question Number : 24 Question Id : 68634013894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is a Water Harvesting Technique practiced in the state of Rajasthan?

1. Kattas
2. Khadims
3. Tals
4. Ahars

Options :

68634054893. 1

68634054894. 2

68634054895. 3
68634054896. 4

Question Number : 24 Question Id : 68634013894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a Water Harvesting Technique practiced in the state of Rajasthan?

1. Kattas

| ]

. Khadims
3. Tals
4. Ahars

Options :

68634054893. 1
68634054894. 2
68634054895. 3
68634054896. 4

Question Number : 25 Question Id : 68634013895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Khelo India Youth Games:

A. They were formerly called Khelo India School Games and are played under two categories under-17
years for school students and under-21 for college students

B. Headquarter of Khelo India Youth Games is in Mumbai and Maharashtra won Khelo India Youth Games
2023

C. Haryana was the first state to win Khelo India Youth Games

D. Khelo India Youth Games 2023 were held in Bhopal

Choose the correct answer from the options given below:

1. B. C and D only

2

.A. Cand D only
3.A BandD only
4. A B and C only

Options :

68634054897. 1
68634054898. 2
68634054899. 3
68634054900. 4

Question Number : 25 Question Id : 68634013895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Khelo India Youth Games:

A. They were formerly called Khelo India School Games and are played under two categories under-17
years for school students and under-21 for college students

B. Headquarter of Khelo India Youth Games is in Mumbai and Maharashtra won Khelo India Youth Games
2023

C. Haryana was the first state to win Khelo India Youth Games

D. Khelo India Youth Games 2023 were held in Bhopal

Choose the correct answer from the options given below:
1.B. C and D only
2.A.Cand D only
3.A.BandD only

4. A. B and C only

Options :

68634054897. 1
68634054898. 2
68634054899. 3
68634054900. 4

Question Number : 25 Question Id : 68634013895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Khelo India Youth Games:

A. They were formerly called Khelo India School Games and are played under two categories under-17
years for school students and under-21 for college students

B. Headquarter of Khelo India Youth Games is in Mumbai and Maharashtra won Khelo India Youth Games
2023

C. Haryana was the first state to win Khelo India Youth Games

D. Khelo India Youth Games 2023 were held in Bhopal

Choose the correct answer from the options given below:

1. B, C and D only
2. A . Cand D only
3.A.Band D only
4. A. B and C only

Options :

68634054897. 1

68634054898. 2

68634054899. 3
68634054900. 4



Part B: Arabic

Section Id : 686340276
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 62
Number of Questions to be attempted : 62

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340452
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634013896 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 34)

Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 68634013897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"-"LA_J.'.'I ypeanll 3 _;gﬂ'l _;.n.....} CuS s

4| J1.‘1_.:_‘!.....

Options :

68634054901. 1
68634054902. 2
68634054903. 3
68634054904. 4



Question Number : 27 Question Id : 68634013898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B e iy B allall ) oS il (e
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Algaall Juaiyl Ji s g dagall Juaiyl iy
3. Al Jual) il gy daall Jal) il g
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Options :

68634054905. 1
68634054906. 2
68634054907. 3
68634054908. 4

Question Number : 28 Question Id : 68634013899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Alasl) Ja) Jis g
1 =Sl meadi s Jadl 5 Jusadl
2, il g i) gt daal) g ol e
3. adl s iy a5 Jead)
4, 2 padl g Saaall g audl g ) pldall
Options :
68634054909. 1
68634054910. 2

68634054911. 3
68634054912. 4

Question Number : 29 Question Id : 68634013900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054913. 1
68634054914. 2
68634054915. 3
68634054916. 4

Question Number : 30 Question Id : 68634013901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

2oe SHalladl S 2o iy

1. .oadd & e ded
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Lol ke ad
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3. el = jde s
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Options :

68634054917. 1
68634054918. 2
68634054919. 3
68634054920. 4

Question Number : 31 Question Id : 68634013902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q‘QJ- |l oSl _Juhh e ‘_,.I

1. & ):n...a.'ul
2. Al & al
3. el
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Options :
68634054921. 1
68634054922. 2



68634054923. 3
68634054924. 4

Question Number : 32 Question Id : 68634013903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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e s Lo sl e Wl S Sl Sl padl b
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Options :

68634054925. 1

68634054926. 2

68634054927. 3
68634054928. 4

Question Number : 33 Question Id : 68634013904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

) 5 _)_‘!_n.d.l'] sL'_I‘ qu'l

1. Kpall il Jie

| ]

IR TR - by
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Options :

68634054929. 1
68634054930. 2
68634054931. 3
68634054932. 4

Question Number : 34 Question Id : 68634013905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR oL | N TN ET L1 | (Rr ety P | S SRR T s | JOT
.‘r__._-al.ﬁ.ll *-'J )].—'"3 'Ij ‘_1.u_Ju.u~.l| e e __z"l l_;ls

T | L1 - 1 .
1. .=l ¥ alesdl gy e

| ]

O s e
3.0l ke

Options :

68634054933. 1
68634054934, 2
68634054935. 3
68634054936. 4

Question Id : 68634013896 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 34)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 68634013897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054901. 1
68634054902. 2
68634054903. 3
68634054904. 4



Question Number : 27 Question Id : 68634013898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B ";I::'.-. Mo~ g £
."",‘.T'-"d - = e 1_‘-)5 B L
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Options :
68634054905. 1
68634054906. 2

68634054907. 3
68634054908. 4

Question Number : 28 Question Id : 68634013899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634054909. 1

68634054910. 2

68634054911. 3
68634054912. 4

Question Number : 29 Question Id : 68634013900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634054913. 1
68634054914. 2
68634054915. 3
68634054916. 4

Question Number : 30 Question Id : 68634013901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(e S Al s e aly

1. .oadd o ileded
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Options :

68634054917. 1
68634054918. 2
68634054919. 3
68634054920. 4

Question Number : 31 Question Id : 68634013902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. Ic-]):u....:.'ﬂ

2 r:'..i_” i el
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Options :

68634054921. 1
68634054922 2
68634054923. 3
68634054924. 4

Question Number : 32 Question Id : 68634013903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054925. 1

68634054926. 2

68634054927. 3
68634054928. 4

Question Number : 33 Question Id : 68634013904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e a)_e__;u'] &'_I‘)u.l

1. Al JA0I

[ ]

3., sl Juaiy) B
4, Al Juaiyl Jila s
Options :
68634054929. 1
68634054930. 2

68634054931. 3
68634054932. 4

Question Number : 34 Question Id : 68634013905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054933. 1
68634054934, 2



68634054935. 3
68634054936. 4

Question Id : 68634013896 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 34)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 68634013897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054901. 1
68634054902. 2
68634054903. 3
68634054904. 4

Question Number : 27 Question Id : 68634013898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054905. 1
68634054906. 2
68634054907. 3
68634054908. 4

Question Number : 28 Question Id : 68634013899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634054909. 1
68634054910. 2
68634054911. 3
68634054912. 4

Question Number : 29 Question Id : 68634013900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. o geall g Jad W aleadl o o sl
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Options :
68634054913. 1
68634054914. 2

68634054915. 3
68634054916. 4

Question Number : 30 Question Id : 68634013901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054917. 1
68634054918. 2

68634054919. 3
68634054920. 4

Question Number : 31 Question Id : 68634013902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054921. 1
68634054922. 2
68634054923. 3
68634054924. 4

Question Number : 32 Question Id : 68634013903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054925. 1
68634054926. 2



68634054927. 3
68634054928. 4

Question Number : 33 Question Id : 68634013904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054929. 1
68634054930. 2
68634054931. 3
68634054932. 4

Question Number : 34 Question Id : 68634013905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054933. 1
68634054934. 2
68634054935.3
68634054936. 4

Sub-Section Number : 2
Sub-Section Id : 686340453
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 35 Question Id : 68634013906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054937. 1
68634054938. 2
68634054939. 3
68634054940. 4

Question Number : 35 Question Id : 68634013906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e a el &1 g e st A Al x2S U
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Options :

68634054937. 1
68634054938. 2
68634054939. 3
68634054940. 4

Question Number : 35 Question Id : 68634013906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



r U ol 18 e

ol p el £ gy Lo Upa il sl zaaS iy

-2
£
L
"
E

Options :

68634054937. 1
68634054938. 2
68634054939. 3
68634054940. 4

Question Number : 36 Question Id : 68634013907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054941. 1
68634054942. 2
68634054943. 3
68634054944. 4

Question Number : 36 Question Id : 68634013907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054941. 1
68634054942. 2
68634054943. 3
68634054944. 4

Question Number : 36 Question Id : 68634013907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054941. 1
68634054942. 2
68634054943. 3
68634054944. 4

Question Number : 37 Question Id : 68634013908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054945. 1
68634054946. 2
68634054947. 3
68634054948. 4

Question Number : 37 Question Id : 68634013908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. elaaall
2 _I: _F-. o
3. . ol el
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Options :

68634054945. 1
68634054946. 2
68634054947. 3
68634054948. 4

Question Number : 37 Question Id : 68634013908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054945. 1



68634054946. 2
68634054947. 3
68634054948. 4

Question Number : 38 Question Id : 68634013909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054949. 1
68634054950. 2
68634054951. 3
68634054952. 4

Question Number : 38 Question Id : 68634013909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054949. 1
68634054950. 2
68634054951. 3
68634054952. 4

Question Number : 38 Question Id : 68634013909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054949. 1
68634054950. 2
68634054951. 3
68634054952. 4

Question Number : 39 Question Id : 68634013910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054953. 1
68634054954. 2
68634054955.3
68634054956. 4

Question Number : 39 Question Id : 68634013910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:b'a_".‘-l _].Jijul'l O _;.i:ni'.éﬁ] g _)‘""'I"I‘ s

2. . akad j_,-i
3., &

4, fe o e

Options :
68634054953. 1
68634054954. 2



68634054955. 3
68634054956. 4

Question Number : 39 Question Id : 68634013910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:b'._".‘-l _,._JjS;n.h O _’w.d.'..’n_l'l &) _Ju.v...'.'; e

1.l
2., Ak j-.'i
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Options :

68634054953. 1
68634054954. 2
68634054955. 3
68634054956. 4

Question Number : 40 Question Id : 68634013911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:
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Options :

68634054957. 1
68634054958. 2
68634054959. 3
68634054960. 4

Question Number : 40 Question Id : 68634013911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054957. 1
68634054958. 2
68634054959. 3
68634054960. 4

Question Number : 40 Question Id : 68634013911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054957. 1
68634054958. 2
68634054959. 3
68634054960. 4

Question Number : 41 Question Id : 68634013912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-ll I\ I|| & - X 1 .|'
0 = "I_,J""‘"‘ e et

1. .o 2

2.5

4, ) piJa
Options :

68634054961. 1
68634054962 2



68634054963. 3
68634054964. 4

Question Number : 41 Question Id : 68634013912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-ll I\ I|| & - X 1 .|'
0 = "I_,J""‘"‘ e et

1. .o 2

2. 55 s

4, ) pida
Options :

68634054961. 1
68634054962. 2
68634054963. 3
68634054964. 4

Question Number : 41 Question Id : 68634013912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-ll I\ I|| & - X 1 .|'
0 = ..l).‘l.u. e e

1. b st

2,55 s

4, ) piJa
Options :

68634054961. 1
68634054962 2
68634054963. 3
68634054964. 4

Question Number : 42 Question Id : 68634013913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054965. 1
68634054966. 2
68634054967. 3
68634054968. 4

Question Number : 42 Question Id : 68634013913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. . gl
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Options :

68634054965. 1
68634054966. 2
68634054967. 3
68634054968. 4

Question Number : 42 Question Id : 68634013913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. Lol daxll B i
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1. ol
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3. . Jhai
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Options :
68634054965. 1
68634054966. 2



68634054967. 3
68634054968. 4

Question Number : 43 Question Id : 68634013914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054969. 1
68634054970. 2
68634054971. 3
68634054972. 4

Question Number : 43 Question Id : 68634013914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054969. 1
68634054970. 2
68634054971. 3
68634054972. 4

Question Number : 43 Question Id : 68634013914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054969. 1
68634054970. 2
68634054971. 3
68634054972. 4

Question Number : 44 Question Id : 68634013915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 53.\_-" sl .‘_:..:._1:| \_.'1 3.1. AT b’ # ‘-gr| Jat Yy ._T-—’ La

y R r- R | Y
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4. Aany g e

Options :

68634054973. 1
68634054974. 2
68634054975. 3
68634054976. 4

Question Number : 44 Question Id : 68634013915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634054973. 1
68634054974. 2
68634054975. 3
68634054976. 4

Question Number : 44 Question Id : 68634013915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
asip Y il 2 SN Y il A Y| Loy N8 L

yoRE PR Y
el 4l e el s
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Options :

68634054973. 1
68634054974. 2
68634054975.3
68634054976. 4

Question Number : 45 Question Id : 68634013916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3 S oel laa
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Options :

68634054977. 1
68634054978. 2
68634054979. 3
68634054980. 4

Question Number : 45 Question Id : 68634013916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054977. 1
68634054978. 2
68634054979. 3
68634054980. 4

Question Number : 45 Question Id : 68634013916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| ]

3 S oel laa
DiLgsns

4, peadha

Options :

68634054977. 1
68634054978. 2
68634054979. 3
68634054980. 4

Sub-Section Number : 3
Sub-Section Id : 686340454
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634013917 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (46 to 51)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 68634013918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s ) Al ) s SNl el 1l

£
[
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Options :

68634054981. 1
68634054982. 2
68634054983. 3
68634054984. 4

Question Number : 47 Question Id : 68634013919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o el Al e
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Options :

68634054985. 1
68634054986. 2
68634054987. 3
68634054988. 4



Question Number : 48 Question Id : 68634013920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054989. 1
68634054990. 2
68634054991. 3
68634054992. 4

Question Number : 49 Question Id : 68634013921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054993. 1
68634054994. 2
68634054995. 3
68634054996. 4

Question Number : 50 Question Id : 68634013922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054997. 1
68634054998. 2
68634054999. 3
68634055000. 4

Question Number : 51 Question Id : 68634013923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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1 Od il ginia ad

| ]

Lty i ok Jud
3. a0y Uad
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Options :

68634055001. 1
68634055002. 2
68634055003. 3
68634055004. 4

Question Id : 68634013917 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (46 to 51)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 68634013918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054981. 1
68634054982. 2

68634054983. 3
68634054984. 4

Question Number : 47 Question Id : 68634013919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i edl 2l a gl
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Options :

68634054985. 1
68634054986. 2
68634054987. 3
68634054988. 4

Question Number : 48 Question Id : 68634013920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rd ol Ly ey dglal gud) Al
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Options :
68634054989. 1
68634054990. 2



68634054991. 3
68634054992. 4

Question Number : 49 Question Id : 68634013921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o e R PRSCILENAR, R L
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Options :

68634054993. 1
68634054994. 2
68634054995. 3
68634054996. 4

Question Number : 50 Question Id : 68634013922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054997. 1
68634054998. 2
68634054999. 3
68634055000. 4

Question Number : 51 Question Id : 68634013923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055001. 1
68634055002. 2
68634055003. 3
68634055004. 4

Question Id : 68634013917 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (46 to 51)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 68634013918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054981. 1
68634054982. 2
68634054983. 3
68634054984. 4



Question Number : 47 Question Id : 68634013919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054985. 1
68634054986. 2
68634054987. 3
68634054988. 4

Question Number : 48 Question Id : 68634013920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054989. 1
68634054990. 2
68634054991. 3
68634054992. 4

Question Number : 49 Question Id : 68634013921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054993. 1
68634054994. 2
68634054995. 3
68634054996. 4

Question Number : 50 Question Id : 68634013922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054997. 1
68634054998. 2
68634054999. 3
68634055000. 4

Question Number : 51 Question Id : 68634013923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634055001. 1
68634055002. 2



68634055003. 3
68634055004. 4

Sub-Section Number : 4
Sub-Section Id : 686340455
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 52 Question Id : 68634013924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055005. 1
68634055006. 2
68634055007. 3
68634055008. 4

Question Number : 52 Question Id : 68634013924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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"United Nations Educational. Scientific and Cultural Organization”
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Options :

68634055005. 1
68634055006. 2
68634055007 3
68634055008. 4

Question Number : 52 Question Id : 68634013924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055005. 1
68634055006. 2
68634055007. 3
68634055008. 4

Question Number : 53 Question Id : 68634013925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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"Tglamic Resistance Movement”

1. a5y 4 o ds

-2

Sl AR A s
3. etk dgall dalaia

4, At da il 48 o

Options :

68634055009. 1
68634055010. 2
68634055011. 3
68634055012. 4

Question Number : 53 Question Id : 68634013925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055009. 1
68634055010. 2
68634055011. 3
68634055012. 4

Question Number : 53 Question Id : 68634013925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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"Telamic Resistance Movement”
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Options :

68634055009. 1
68634055010. 2
68634055011. 3
68634055012. 4

Question Number : 54 Question Id : 68634013926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Gulf Coordination Comumittee.

| ]

. Gulf Coordination Council.
3. Gulf Cooperation Committee.
4. Gulf Cooperation Council.

Options :

68634055013. 1
68634055014. 2
68634055015. 3
68634055016. 4

Question Number : 54 Question Id : 68634013926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S A st Aalll dasaal) Aea
1 "

"._ﬁ?'u\.:'l O geadll palas

1. Gulf Coordination Commuittee.

| )

. Gulf Coordination Couneil.

L]

. Gulf Cooperation Committee.
4. Gulf Cooperation Council.

Options :

68634055013. 1
68634055014. 2
68634055015. 3
68634055016. 4

Question Number : 54 Question Id : 68634013926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Gulf Coordination Committee.

-2

. Gulf Coordination Council.
3. Gulf Cooperation Committee.
4. Gulf Cooperation Council.

Options :

68634055013. 1
68634055014. 2
68634055015. 3
68634055016. 4

Question Number : 55 Question Id : 68634013927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Islamic State of Iraq and Syria.
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. Iraq and Syria Islamie Countries.

3. Islamic Countries of Iraq and Syria.

e

. Iraq and Syria Islamic States.



Options :

68634055017. 1
68634055018. 2
68634055019. 3
68634055020. 4

Question Number : 55 Question Id : 68634013927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Islamic State of Iraq and Syria.

| )

. Iraq and Syria Islamic Countries.

3. Islamic Countries of Iraq and Syria.

e

. Iraq and Syria Islamic States.

Options :

68634055017. 1
68634055018. 2
68634055019. 3
68634055020. 4

Question Number : 55 Question Id : 68634013927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Islamic State of Iraq and Syria.

-2

. Iraq and Syria Islamic Countries.

3. Islamic Countries of Iraq and Syria.

e

. Iraq and Syria Islamic States.

Options :

68634055017. 1
68634055018. 2
68634055019. 3
68634055020. 4

Question Number : 56 Question Id : 68634013928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055021. 1
68634055022. 2
68634055023. 3
68634055024. 4

Question Number : 56 Question Id : 68634013928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055021. 1
68634055022. 2
68634055023. 3
68634055024. 4

Question Number : 56 Question Id : 68634013928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634055021. 1
68634055022. 2



68634055023. 3
68634055024. 4

Question Number : 57 Question Id : 68634013929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055025. 1
68634055026. 2
68634055027. 3
68634055028. 4

Question Number : 57 Question Id : 68634013929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055025. 1
68634055026. 2
68634055027. 3
68634055028. 4

Question Number : 57 Question Id : 68634013929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055025. 1
68634055026. 2
68634055027. 3
68634055028. 4

Question Number : 58 Question Id : 68634013930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055029. 1
68634055030. 2
68634055031. 3
68634055032. 4

Question Number : 58 Question Id : 68634013930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634055029. 1
68634055030. 2



68634055031. 3
68634055032. 4

Question Number : 58 Question Id : 68634013930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055029. 1
68634055030. 2
68634055031. 3
68634055032. 4

Question Number : 59 Question Id : 68634013931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055033. 1
68634055034. 2
68634055035. 3
68634055036. 4

Question Number : 59 Question Id : 68634013931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055033. 1
68634055034. 2
68634055035. 3
68634055036. 4

Question Number : 59 Question Id : 68634013931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055033. 1
68634055034. 2
68634055035. 3
68634055036. 4

Question Number : 60 Question Id : 68634013932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055037. 1
68634055038. 2



68634055039. 3
68634055040. 4

Question Number : 60 Question Id : 68634013932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055037. 1
68634055038. 2
68634055039. 3
68634055040. 4

Question Number : 60 Question Id : 68634013932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gedl 5 pms D ad 2l

b

| ]

coEy Al e

3. bl )
a d.....}_t.'ﬂ )h‘_'lnll

Options :

68634055037. 1
68634055038. 2
68634055039. 3
68634055040. 4

Question Number : 61 Question Id : 68634013933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055041. 1
68634055042. 2
68634055043. 3
68634055044. 4

Question Number : 61 Question Id : 68634013933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055041. 1
68634055042. 2
68634055043. 3
68634055044. 4

Question Number : 61 Question Id : 68634013933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :
68634055041. 1
68634055042. 2



68634055043. 3
68634055044. 4

Question Number : 62 Question Id : 68634013934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634055045. 1
68634055046. 2
68634055047. 3
68634055048. 4

Question Number : 62 Question Id : 68634013934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055045. 1
68634055046. 2
68634055047. 3
68634055048. 4

Question Number : 62 Question Id : 68634013934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055045. 1
68634055046. 2
68634055047. 3
68634055048. 4

Question Number : 63 Question Id : 68634013935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055049. 1
68634055050. 2
68634055051. 3
68634055052. 4

Question Number : 63 Question Id : 68634013935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634055049. 1
68634055050. 2



68634055051. 3
68634055052. 4

Question Number : 63 Question Id : 68634013935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055049. 1
68634055050. 2
68634055051. 3
68634055052. 4

Question Number : 64 Question Id : 68634013936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055053. 1
68634055054. 2
68634055055. 3
68634055056. 4

Question Number : 64 Question Id : 68634013936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055053. 1
68634055054. 2
68634055055. 3
68634055056. 4

Question Number : 64 Question Id : 68634013936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634055053. 1
68634055054. 2
68634055055. 3
68634055056. 4

Question Number : 65 Question Id : 68634013937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wZialll fw Ay jall Al

£
;

4. dudall

Options :
68634055057. 1
68634055058. 2



68634055059. 3
68634055060. 4

Question Number : 65 Question Id : 68634013937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

walll e Ay gl 451

£
;

4. dudal

Options :

68634055057. 1
68634055058. 2
68634055059. 3
68634055060. 4

Question Number : 65 Question Id : 68634013937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 lalll e A jall A2l

1. 435! sigl!

Options :

68634055057. 1
68634055058. 2
68634055059. 3
68634055060. 4

Question Number : 66 Question Id : 68634013938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: <&l g 58 Aalg a8 o) pa 18

Reason R: s el A 34 0 pa A g g ) el

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634055061. 1
68634055062. 2
68634055063. 3
68634055064. 4

Question Number : 66 Question Id : 68634013938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: &y g8 Adlgad o) pa €

Reason R |iJn.4l Uj uj-".: o ps J.ll; ol e '»_Inj_'_'.'l-n'-ll- _';,I:—'...'.'J.l
In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

2=

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R is correct

Options :

68634055061. 1
68634055062. 2
68634055063. 3
68634055064. 4

Question Number : 66 Question Id : 68634013938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: <&l g 58 Aalg a8 o) pa 18

Reason R: s el A 34 0 pa A g g ) el

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634055061. 1
68634055062. 2
68634055063. 3
68634055064. 4

Question Number : 67 Question Id : 68634013939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: 4Ll I e Cuai 4 gy el
Reason R: & 1l gl (i 585 o Ja gha cua QU
In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634055065. 1
68634055066. 2
68634055067. 3
68634055068. 4

Question Number : 67 Question Id : 68634013939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A; 48850 1 dia Cuat Al g 5 el
Reason R: 4l 5l o3g1 J: 638 Yl B8 glas cuas JIs

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634055065. 1
68634055066. 2
68634055067. 3
68634055068. 4

Question Number : 67 Question Id : 68634013939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: 4Ll I e Cuai 4 gy el
Reason R: 4 1l sl (i 585 o Ja ghas cua U
In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R i1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634055065. 1
68634055066. 2
68634055067. 3
68634055068. 4

Question Number : 68 Question Id : 68634013940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:
183l J&
aallydaligad s cudl g dilag eladadl i gt 5301 128
Feason R:

omadl o o =2e B ) 2
. z .

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634055069. 1
68634055070. 2
68634055071. 3
68634055072. 4

Question Number : 68 Question Id : 68634013940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:
183 il JA
aally Jallgdd oy undly Al eladall iyl 5301 128
Feason R:

omadl o o =2e B ) 2
. z .

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634055069. 1
68634055070. 2
68634055071. 3
68634055072. 4

Question Number : 68 Question Id : 68634013940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:
183 il JA
aally Jallgdd oy undly Al eladall iyl 5301 128
Reason R:

omadl o o =2e B ) 2
. z .

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634055069. 1
68634055070. 2
68634055071. 3
68634055072. 4

Question Number : 69 Question Id : 68634013941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one i1s labelled as Assertion A and the other is labelled as Reason R
Agsertion A: _

A giall 1S gl A AL Apaall e (g glee Sl

Reason R:

Malil) ddad M B ) g o glaa e S

In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false
4. A 1s false but R 1s true
Options :
68634055073. 1
68634055074. 2

68634055075. 3
68634055076. 4



Question Number : 69 Question Id : 68634013941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: .

Ayl 15 pal b gt Apanll” e e ghae JLlise

RPeason R:

) Ay e Chglae Jllie S

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A1s true but R 1s false

4, A is false but R is true

Options :

68634055073. 1
68634055074. 2
68634055075. 3
68634055076. 4

Question Number : 69 Question Id : 68634013941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: .

AT O T W T WO LS WLV T NS 1

RPeason R:

MAalal) dday) opae i gles Jllie s

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634055073. 1
68634055074. 2
68634055075. 3
68634055076. 4

Question Number : 70 Question Id : 68634013942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one i1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A:

I e | el ) Bis S

Reason R

1932 ale asml ) dls A

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634055077. 1
68634055078. 2
68634055079. 3
68634055080. 4

Question Number : 70 Question Id : 68634013942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A:

e | el sl Bl S

Reason R

1932 ale aml ) Bila 4

In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Aistrue but R is false

4. A is false but R is true

Options :

68634055077. 1
68634055078. 2
68634055079. 3
68634055080. 4

Question Number : 70 Question Id : 68634013942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one i1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A:

I e | el ) Bis S

Reason R

1932 ale asml ) dls A

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634055077. 1
68634055078. 2
68634055079. 3
68634055080. 4

Question Number : 71 Question Id : 68634013943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one i1s labelled as Assertion A and the other is labelled as Reason R
Agsertion A: _

M | gis Al ET 8 A ] g
Reason R:

- Al Mg Ll
In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634055081. 1
68634055082. 2
68634055083. 3
68634055084. 4

Question Number : 71 Question Id : 68634013943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Agsertion A: _

Mla y )y dll ST 8 ) ) st

Beason R:

—g Aty Mg s

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634055081. 1
68634055082. 2
68634055083. 3
68634055084. 4

Question Number : 71 Question Id : 68634013943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one i1s labelled as Assertion A and the other is labelled as Reason R
Agsertion A: _

M | gis Al ET 8 A ] g
Reason R:

- Al Mg Ll
In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634055081. 1
68634055082. 2
68634055083. 3
68634055084. 4

Question Number : 72 Question Id : 68634013944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:

RPeason R:

RUS LA ..J""r‘—ﬁ "l sl

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634055085. 1
68634055086. 2
68634055087. 3
68634055088. 4

Question Number : 72 Question Id : 68634013944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one i1s labelled as Assertion A and the other is labelled as Reason R
Agsertion A:

Reason R:

1 il ,:L....’I ..J""r‘—ﬁ " el el

In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Aistrue but R is false

4. A is false but R is true

Options :

68634055085. 1
68634055086. 2
68634055087. 3
68634055088. 4

Question Number : 72 Question Id : 68634013944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:

RPeason R:

1l L] G a1 el

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634055085. 1
68634055086. 2
68634055087. 3
68634055088. 4

Question Number : 73 Question Id : 68634013945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Anmiadlen ;oS AN Sl i

al 47
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[F-

v
el

Mmoo
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Choose the correct answer from the options given below:
1. ALB.C.D.E
2.D,B.AEC
3B CoBrA
4.B.D.A.C.E
Options :
68634055089. 1
68634055090. 2

68634055091. 3
68634055092. 4

Question Number : 73 Question Id : 68634013945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aaaea dlea ) gl ) Silsl) i

a1 v
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Mmoo
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Choose the correct answer from the options given below:

1. AB.C,D.E

| B

.D.B.AEC
3:H 1 B A
4.B.D.A CE

Options :

68634055089. 1
68634055090. 2
68634055091. 3
68634055092. 4

Question Number : 73 Question Id : 68634013945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aasnia dles o8 AN CilalEl i

| s
-

(5-

i
-n.n.'n-l'l?_l
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v
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'III

i J.-.d;l.n

MY oW

Choose the correct answer from the options given below:

1.4, B, €D, E
2. DB, AEC
3.E,D,C,B,A
4.B,D.A,C.E

Options :

68634055089. 1

68634055090. 2

68634055091. 3
68634055092. 4



Question Number : 74 Question Id : 68634013946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P EENCR L PERUn | G A L4

AL S
Byt

-
]

B

NN |
D. -,Pa%" _:I.lln.n
E.

%_.H bl_'?.u.'.'.-
Choose the correct answer from the options given below:

1. AB.C,D.E

-J

.D.B.A.E.C
3.C,EABD
4.B.A.D.C.E

Options :

68634055093. 1
68634055094. 2
68634055095. 3
68634055096. 4

Question Number : 74 Question Id : 68634013946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Anniadlen oS3 AN cidel L

Al S el
B. &

., ki
D. -51'._"' :—Illlnlll
E. .LE_.H :al)r__'.'.-

Choose the correct answer from the options given below:
1.4, B, €D, E
2.D,B,A,E, C
3.C,E.A,B, D
4.B,A.D,C.E
Options :
68634055093. 1

68634055094. 2
68634055095. 3



68634055096. 4

Question Number : 74 Question Id : 68634013946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dasniadles oS A el i

ALl S e
B. 4

C, i
D. -51'._"' :—Illlnlll
E. .LE_.H :al)r__'.'.-

Choose the correct answer from the options given below:
1. AB.C,D.E
2:D By B 6
3.C. B AR D
4.B.A.D.C.E

Options :

68634055093. 1
68634055094. 2
68634055095. 3
68634055096. 4

Question Number : 75 Question Id : 68634013947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.'d.a.a....:l' - ‘Maa.l' = ;‘-{ﬁ q_:il_':l s;'-ﬁls.l. '] '.—”_,

A Adalal
B. _.- e pean ol

C. padly

D. Sl=

E. ¢l wal

Choose the correct answer from the options given below:

LA B C.D.E

2:D.B; A B

3.C,E.A B.D

4. D.E. B A.C

Options :
68634055097. 1



68634055098. 2
68634055099. 3
68634055100. 4

Question Number : 75 Question Id : 68634013947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aaaa dlea oS3 AN ilalsh i

A, adalal

B. U
C. a3Vl s

D. H\.'.'.-Ll.-.

E. ¢ pill

Choose the correct answer from the options given below:
LA B C.D.E
2:D.B; A B
3.C,E.A B.D

4. D.E. B A.C

Options :

68634055097. 1
68634055098. 2
68634055099. 3
68634055100. 4

Question Number : 75 Question Id : 68634013947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aasnia dles o8 AN CilalEl i
ALl
B. U pasdl
C. p=sy|
D. sl=
E. ¢l _‘_ﬂ..ﬁl

Choose the correct answer from the options given below:

1.AB C,D,E

-J

BB AGEE

3. OB AB D

4.D.E.B. A C



Options :

68634055097. 1
68634055098. 2
68634055099. 3
68634055100. 4

Question Number : 76 Question Id : 68634013948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Aasnia dles o8 AN CilalEl i

Choose the correct answer from the options given below:
1LED,C BA
2.E;AB. D.C
3. C,EAB, D
4D E B AC

Options :

68634055101. 1
68634055102. 2
68634055103. 3
68634055104. 4

Question Number : 76 Question Id : 68634013948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aaaea dlea ) gl ) Silsl) i

Choose the correct answer from the options given below:

1L.E INC B A

| B

By AB D, C
3.C,E.A B.D
4. D.E. B A.C

Options :

68634055101. 1
68634055102. 2
68634055103. 3
68634055104. 4

Question Number : 76 Question Id : 68634013948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aasnia dles o8 AN CilalEl i

Ao 5
B. =
C..5
D. sau=all
E.

'(l\

1

Choose the correct answer from the options given below:

1. E. D €,B A
2. BE:AR D C
3.C,E.A.B.D
4.D.E BA C

Options :

68634055101. 1

68634055102. 2

68634055103. 3
68634055104. 4



Question Number : 77 Question Id : 68634013949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
~'—"é-7|},h-‘151 O 8 geadl s o)l o

5 (i by on g
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CAxn y i (g es
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MmO 0w e

Choose the correct answer from the options given below:

1.E,B,D CA

-J

EVAB, D, C
3. OB AB D
4.D.E.B. A C

Options :

68634055105. 1
68634055106. 2
68634055107. 3
68634055108. 4

Question Number : 77 Question Id : 68634013949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uaall g anll e sgall i ol gl
A _ﬁ'."j_}-'...il' 4'_.:...... _"J_Lﬂ.ni
B. slwiall
C. _..'.".-'ll
D. daz ) 2 (i e
E
Choose the correct answer from the options given below:
1LE.B.D,CA
2.E,A,B,D,C
3.C,E.A,B, D
4. D, E. B.A C

Options :

68634055105. 1
68634055106. 2
68634055107. 3



68634055108. 4

Question Number : 77 Question Id : 68634013949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"I_'hjlfﬂhﬂi]m-jg-'—]| ey =4 "—‘_,

T, [ .
elaial)

__- Al

Ay i e

"yil

(REET

Mmoo w e

Choose the correct answer from the options given below:
1.E.B.D.CA
2. EyA B, D€
3.C. B AR D
4.D,E.B,A.C

Options :

68634055105. 1
68634055106. 2
68634055107. 3
68634055108. 4

Question Number : 78 Question Id : 68634013950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 . ccrrmn e 3
REITREN| ‘_‘..“ petll e e Wl e U D

A ausi

B. )

O, duagl)

D. = an
E. dualiisy

Choose the correct answer from the options given below:

1LE.B.A.C,D

| B]

CLA B, DLE
3. C,B,AE, D
4. D.E CAB

Options :
68634055109. 1



68634055110. 2
68634055111. 3
68634055112. 4

Question Number : 78 Question Id : 68634013950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: g S, . i %
~'_1"A.|I ‘5“ HJ.':'I e ‘_yu_'_u| AT U.I'J' =

A ausi

B. &)

O, duagl)

D. =l g
E. dualiisy

Choose the correct answer from the options given below:

1.LE.B.AC.D

| B]

CLA B, D.E
3. C,B,AE, D
4. D.E CAB

Options :

68634055109. 1
68634055110. 2
68634055111. 3
68634055112. 4

Question Number : 78 Question Id : 68634013950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cuanll M asel e e s TN O

A s

B. s

(. duiagill

D. =l g
E. dualiny)

Choose the correct answer from the options given below:

1.LEBACD

-J

C,AB,D.E

3.0 B B

4.D,E C. A B



Options :

68634055109. 1
68634055110. 2
68634055111. 3
68634055112. 4

Question Number : 79 Question Id : 68634013951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aasnia dles o8 AN CilalEl i

A AS s
B, sLiadll,
C. S
D. s

E. S
Choose the correct answer from the options given below:
1LECDAB
22EAB.D.C
3 D.EAB.C
4. A.CE DB
Options :
68634055113. 1
68634055114. 2

68634055115. 3
68634055116. 4

Question Number : 79 Question Id : 68634013951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aaaea dlea ) gl ) Silsl) i

A Sy
B. elLiail,
C. aSa=y
D. il
E. Sl

Choose the correct answer from the options given below:

1LECDARB

| B

JEACB D E
3. DB A B, C
4 A C.E. DB

Options :

68634055113. 1
68634055114. 2
68634055115. 3
68634055116. 4

Question Number : 79 Question Id : 68634013951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aasnia dles o8 AN CilalEl i
AL S g
B. sliadly
O
D.
E. =

Choose the correct answer from the options given below:
1L.ECDAB
2. B A, B D€
3.D.E.A.B.C
4 A.C.E.D.B

Options :

68634055113. 1
68634055114. 2
68634055115. 3
68634055116. 4



Question Number : 80 Question Id : 68634013952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:

Ao b Luhd 3V Basbu o o S

Statement II:

() jamall Aselu oy d S

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| o]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement I1 is correct
Options :
68634055117. 1
68634055118. 2

68634055119. 3
68634055120. 4

Question Number : 80 Question Id : 68634013952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:

12k ekt LY il s o S

Statement II:

ealall jaall Adselu ol S

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement I and Statement I are correct

-J

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement II is correct

Options :
68634055117. 1



68634055118. 2
68634055119. 3
68634055120. 4

Question Number : 80 Question Id : 68634013952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I:

1ol lghd LY Bael 0y o s
Statement II:
sl poall BBselu y d i<

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| o]

. Both Statement I and Statement II are incorrect

L N]

. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634055117. 1
68634055118. 2
68634055119. 3
68634055120. 4

Question Number : 81 Question Id : 68634013953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:

Augdds Il L ens Aliny ey Sl dail) SF

Statement II:

alalad) el atll gad ol Sl dall s

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| o]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634055121. 1
68634055122. 2
68634055123. 3
68634055124. 4

Question Number : 81 Question Id : 68634013953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:

Al ddle d) Lo dena il Alay da Sl A SF

Statement II:

alalad) el atll gad ol Sl dall s

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| o]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634055121. 1
68634055122. 2
68634055123. 3
68634055124. 4



Question Number : 81 Question Id : 68634013953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I:
Ay e Qi da deas il iy tay Sl Al ¥
Statement I1:
Cptatadl el il gal a Sl Al g

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement I and Statement I are correct

-J

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement I1 is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634055121. 1
68634055122. 2

68634055123.3
68634055124. 4

Question Number : 82 Question Id : 68634013954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:

o S5Y 0 platall o) ) 4k pin 5 g B 5

Statement II:

Al D 2By e B g BSS B g

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

-

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement II is correct

Options :



68634055125. 1
68634055126. 2
68634055127. 3
68634055128. 4

Question Number : 82 Question Id : 68634013954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I:
Al Y plalall el patll 48 a3 Bl e
Statement II:
Al Sk B Gy s g BlSe G pu

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| o]

. Both Statement I and Statement II are incorrect

L ¥ ]

. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634055125. 1
68634055126. 2
68634055127. 3
68634055128. 4

Question Number : 82 Question Id : 68634013954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:

gl LY 5 slatal) o) el 48 ading § o BlSe G4

Statement II:

Al 2D gy e 3 g S 5

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| o]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634055125. 1
68634055126. 2
68634055127. 3
68634055128. 4

Question Number : 83 Question Id : 68634013955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: _ _
23 e b ypea il g DA ) e ST e Dol 58 el aes

Statement I1:

LJLA: _5' 'I_}S;r. JﬂLr.'l'l )—ljj _:E..:J.i c..:u Jﬂ}

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false

4. Statement I i3 incorrect but Statement IT is true

Options :

68634055129. 1
68634055130. 2
68634055131. 3



68634055132. 4

Question Number : 83 Question Id : 68634013955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: _ _
I.b.‘)é.».':'-)}..a _Jn_u.c..\.‘_,_" }"_J-‘—II.J"' )Elél:—:..'h_’m J_...i_il(v:u

Statement I1:

Toag £ 3 [T ] . w TR
i | 5 3l \ s .
S e 'IJS-A‘._,'-J.H e g Sl A -3

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

-

. Both Statement I and Statement II are false
3. Statement I 1s correct but Statement I1 is false

4. Statement [ is incorrect but Statement I1 is true

Options :

68634055129. 1
68634055130. 2
68634055131. 3
68634055132. 4

Question Number : 83 Question Id : 68634013955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: _ ,
B2 e e pad a GO0 g el e (S e ole g el aen

Statement I1:

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II 1s false

4. Statement I 13 incorrect but Statement IT is true

Options :

68634055129. 1
68634055130. 2
68634055131. 3
68634055132. 4

Question Number : 84 Question Id : 68634013956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: . |
Lpaie 122000 1] e 2l el S

Statement I1:

355 Les Legilinline s 1000 5 100 Jpoaadl juead

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II is false

4. Statement I i3 incorrect but Statement IT is true

Options :

68634055133. 1
68634055134. 2
68634055135. 3



68634055136. 4

Question Number : 84 Question Id : 68634013956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: _ )
Lpaia 12,8200 M 11 S dlasd )"'»—F"

Statement I1:

133 e Legilislians 1000 5 100 Gpanll e o

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

-

. Both Statement I and Statement II are false
3. Statement I 1s correct but Statement I1 is false

4. Statement [ is incorrect but Statement I1 is true

Options :

68634055133. 1
68634055134. 2
68634055135.3
68634055136. 4

Question Number : 84 Question Id : 68634013956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: _ _
paie 12 200 AT e dles) e SU

Statement I1:

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II is false

4, Statement I is incorrect but Statement II is true

Options :

68634055133. 1
68634055134. 2
68634055135. 3
68634055136. 4

Question Number : 85 Question Id : 68634013957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
FUTRYe- ENFTRITEN g

Statement I1:

il A gl S

In the light of the above statements, choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false

4. Statement [ is incorrect but Statement IT is true

Options :

68634055137. 1
68634055138. 2
68634055139. 3
68634055140. 4



Question Number : 85 Question Id : 68634013957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:
FUTRTe- ENFTRRIIEN g

Statement II:

G il A PRRGREL

In the light of the above statements., choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement [ is correct but Statement IT is false

4. Statement I is incorrect but Statement I1 is true

Options :

68634055137. 1
68634055138. 2
68634055139.3
68634055140. 4

Question Number : 85 Question Id : 68634013957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:
RS ENTRLTIN g S

Statement II:
il A gl ZLE
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| B}

. Both Statement I and Statement II are false
3. Statement I is correct but Statement II 1s false

4, Statement I is incorrect but Statement II is true

Options :
68634055137. 1



68634055138. 2
68634055139. 3
68634055140. 4

Question Number : 86 Question Id : 68634013958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:

Statement II:
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I is correct but Statement II 1s false

4. Statement I is incorrect but Statement IT is true

Options :

68634055141. 1
68634055142. 2
68634055143. 3
68634055144. 4

Question Number : 86 Question Id : 68634013958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:

Statement I1:

e Lot e (5 A )

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT is true

Options :

68634055141. 1
68634055142. 2
68634055143.3
68634055144. 4

Question Number : 86 Question Id : 68634013958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:
wopma il o Jai B Sl

Statement II:

e (ol e (a5 A3 el

In the light of the above statements, choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement [ is correct but Statement IT is false

4. Statement I is incorrect but Statement I1 is true

Options :

68634055141. 1
68634055142. 2
68634055143.3
68634055144. 4



Question Number : 87 Question Id : 68634013959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el gl el el H;_}m‘.l' e hall _,.I s
A, Suall aall
B. A2all sasll
C. Sladall paall
et
D. .h._-—u-'ll-l'lﬂ—.“ _':p\.d:l..lnl

Choose the correct answer from the options given below:

1.A Only

2.B Oaly
3.C Only
4.D Only

Options :

68634055145. 1
68634055146. 2
68634055147. 3
68634055148. 4

Question Number : 87 Question Id : 68634013959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el gl e | ekl g ol oSl _,.I JE
A. "_;L” _':u.d:nln'l
B. 1___Lh'n_‘l"5.1nll J)....:I:!.h
T | 11
C el s

Choose the correct answer from the options given below:

1.A Only

2.B Oaly
3.C Only
4.D Only

Options :

68634055145. 1
68634055146. 2
68634055147. 3
68634055148. 4



Question Number : 87 Question Id : 68634013959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ol s e |_).I.'-'....'.'.- é_}\!—ﬁll & Zhald) _;.I )

A _ad' ).n:JH

B. alall paall

C '_'.| o) 1l
T 2

1i

D. .hl__—u.'ll-l'lﬂ—.“ _':p\.d:l..

Choose the correct answer from the options given below:

1.A Only

2.B Oaly
3.C Only
4.D Only

Options :

68634055145. 1
68634055146. 2
68634055147. 3
68634055148. 4

Question Number : 88 Question Id : 68634013960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
tale f }1;_| ;II__J;A G fl

A 1920
B. 1932
1925
D. 1021

Choose the correct answer from the options given below:

1.A Only

2.B Oaly
3.C Only
4.D Only

Options :

68634055149. 1
68634055150. 2
68634055151.3
68634055152. 4



Question Number : 88 Question Id : 68634013960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sabs f }1:_| 4-_;;& Gl

A, 1920
B. 1932
C. 1925
D. 1921

Choose the correct answer from the options given below:

1.A Only

2.B Oaly
3.C Only
4.D Only

Options :

68634055149. 1
68634055150. 2
68634055151. 3
68634055152. 4

Question Number : 88 Question Id : 68634013960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
tale f }1;_| ;II__J;A G fl

A 1920
B. 1932
1925
D. 1021

Choose the correct answer from the options given below:

1.A Only

2.B Oaly
3.C Only
4.D Only

Options :

68634055149. 1
68634055150. 2
68634055151.3
68634055152. 4



Question Number : 89 Question Id : 68634013961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MaSalal saall s afel 55 gl Al st JSA e
A Ay Gk
B. 4l 2

Choose the correct answer from the options given below:

1.A Only
2.B Oaly
3.C Only
4.D Only

Options :

68634055153. 1
68634055154. 2
68634055155. 3
68634055156. 4

Question Number : 89 Question Id : 68634013961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I",:ain'..ai j;l..ﬂj aSel yg _):LI_';'I o iadl __..l" J_J]I L

e SRS
Al i)
._ﬁ'l'.f:\_r'] RIS oo

90w

Choose the correct answer from the options given below:

1.A Oaly
2.B Oaly
3.C Only
4.D Only

Options :

68634055153. 1
68634055154. 2
68634055155. 3
68634055156. 4



Question Number : 89 Question Id : 68634013961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I",:ain'..ai jhﬂj aSel yg ):hl_'h o adl __n.'" ._J.JH e
A Ay Gk
B. 4l 2

Choose the correct answer from the options given below:

1.A Only
2.B Oaly
3.C Only
4.D Only

Options :

68634055153. 1
68634055154. 2
68634055155. 3
68634055156. 4

Question Number : 90 Question Id : 68634013962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
rd g g sl 34l JT,i
A, Segl ‘_';'“;-J.I sy Colalie
B. S B _):n.].'l alalia
C. Auigll e
D, Juialall oldl) alalia

Choose the most appropriate answer from the options given below:

1.A Only

-J

.B Oanly
3.C Only
4.D Only

Options :

68634055157 1
68634055158. 2
68634055159. 3
68634055160. 4



Question Number : 90 Question Id : 68634013962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1ol g sy il g

A, Sl e i Ay illia

B. s nd ilalia

C. gl i el

D, Jualall oalal) alalia
Choose the most appropriate answer from the options given below:

1.A Only

2.B Only

3.C Only

4.D Only

Options :

68634055157. 1
68634055158. 2
68634055159. 3
68634055160. 4

Question Number : 90 Question Id : 68634013962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
rd g g sl 34l JT,i
A, Segl ‘_';'“;-J.I sy Colalie
B. S B _):n.].'l alalia
C. Auigll e
D, Juialall oldl) alalia

Choose the most appropriate answer from the options given below:

1.A Only

-J

.B Oanly
3.C Only
4.D Only

Options :

68634055157 1
68634055158. 2
68634055159. 3
68634055160. 4



Question Number : 91 Question Id : 68634013963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 s ol v Ao ey
AL sy il 5
B. gt Ly e
C. ::!.m.nh o -LJ;'A..H

D. &gl &) 5
Choose the most appropriate answer from the options given below:
1.A Only
2.B Only
3.C Only
4.D Only

Options :

68634055161. 1
68634055162. 2
68634055163. 3
68634055164. 4

Question Number : 91 Question Id : 68634013963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl Sliae 2 g5l I 38 e
AL g sy il 5
B. flia (e
C. et 2 ‘L_,}I—"-lil.
D. g2l 2

Choose the most appropriate answer from the options given below:

1.A Only

-J

B Only
3.C Only
4.D Only

Options :

68634055161. 1
68634055162. 2
68634055163. 3
68634055164. 4



Question Number : 91 Question Id : 68634013963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 s ol v i sl ey
AL sy il 5
B. gt Ly e
C. ::!.m.nh o -LJ;'A..H

D. &gl &) 5
Choose the most appropriate answer from the options given below:
1.A Only
2.B Only
3.C Only
4.D Only

Options :

68634055161. 1
68634055162. 2
68634055163. 3
68634055164. 4

Question Number : 92 Question Id : 68634013964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A el a]‘_«.r...'.'-..ﬂ ‘_‘u‘.‘_.l_'l

AL ) lpemes

P 1L "
B, = p e

Bloro i mg ook
s o b
1

T eLuiEn
Choose the most appropriate answer from the options given below:
1.A Only
2.B Only
3.C Ouly
4.D Only
Options :
68634055165. 1
68634055166. 2

68634055167. 3
68634055168. 4



Question Number : 92 Question Id : 68634013964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Al c]‘_-.r...'.'-..ﬂ ‘_.u'.‘__n_'l

AL e S
B. il (4 e

C. ool o 5 5
1

D. eluial)

Choose the most appropriate answer from the options given below:

1.A Only

| B

.B Only
3.C Ouly
4.D Only

Options :

68634055165. 1
68634055166. 2
68634055167. 3
68634055168. 4

Question Number : 92 Question Id : 68634013964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e A el ¢]J-.L..':-..ﬂ_').¢_|_l:'|

AL e S
B. &8 s
R

D. elwial)

Choose the most appropriate answer from the options given below:

1.A Only

| ]

.B Oanly
3.C Oaly
4.D Only

Options :

68634055165. 1
68634055166. 2
68634055167. 3
68634055168. 4



Question Number : 93 Question Id : 68634013965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'._,ﬁ“‘r"'-h c-]_':.a...'.'; s _’-_1

“ §
e | il LI
",F-"j_;-l P—.'-'T“'_,"
el Aol
gt =ty
i L A
— s |

RS R

Cowpe

Choose the most appropriate answer from the options given below:
1.A Only
2.B Only
3.C Ouly
4.D Only

Options :

68634055169. 1
68634055170. 2
68634055171.3
68634055172. 4

Question Number : 93 Question Id : 68634013965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Choose the most appropriate answer from the options given below:

1.A Only
2.B Only
3.C Oaly
4.D Only

Options :

68634055169. 1

68634055170. 2

68634055171. 3
68634055172. 4



Question Number : 93 Question Id : 68634013965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Choose the most appropriate answer from the options given below:

1.A Only

| B

.B Only
3.C Ouly
4.D Only

Options :

68634055169. 1
68634055170. 2
68634055171. 3
68634055172. 4

Question Number : 94 Question Id : 68634013966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

205 ] Al G s

LISTI LIST II
A foddl oA pali a5l L ol
B. Jdaill &bl el iyl II. |oshans
C. [ A oA o | I [Jasid
D Pl a8l e wadl 8 IV, |cida

Choose the correct answer trom the options given below:

1. A-IL B-III, C-IV, D-1

| S

CA-IV.BAIIL C-1, D-10
JOA-IL B-IL C-1, D- IV
4. A-I. B-IV. C-III. D-1I

Options :

68634055173. 1
68634055174. 2
68634055175.3
68634055176. 4



Question Number : 94 Question Id : 68634013966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

205 ] Al G s

LISTI LIST I1
A Joddl e & sl 28l I [alei
B. Jdaill &bl el iyl II. |oshans
C. |y aolall o3 | IIL |G
D. fl,alasull e el s IV, ol

Choose the correct answer trom the options given below:

1. A-IL B-III, C-IV, D-1

| S

CA-IV.BAIIL C-1, D-10
JOA-IL B-IL C-1, D- IV
4. A-I. B-IV. C-III. D-1I

Options :

68634055173. 1
68634055174. 2
68634055175.3
68634055176. 4

Question Number : 94 Question Id : 68634013966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2aiig ] Adid u Ja

LISTI LIST II
A A b AL I ]l
B. |l 8 ol gty I |osfes
C. |l e dll,ll ot | IILL Jdestl
D. palsal 35anll e wudl (I8 IV [k

Choose the correct answer from the options given below:

1. A-IL, B-III, C-IV, D- 1

| o]

CA-IV.BAIIL C-1.D-TT
3 AL B-ILL C-1, D- IV
4. A-I.B-IV. C-III. D-II

Options :

68634055173. 1

68634055174. 2
68634055175.3



68634055176. 4

Question Number : 95 Question Id : 68634013967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 AdiEg ] A S e

LISTI LIST IT
A fosadl il 1, 2L L il o8 Al spcall 2350
B. jgsaill il o uadl ol | TL |l il
C. ol a3 o e | IIL |l Dty L0 oes 130
D. fosall o s IV, [l ol i

Choose the correct answer from the options given below:

1. A-I. B-III.C-IV, D-II

| S

CACIIL B-IV, C-1, D-10
JLA-IL B-IV.C-I.D-TI
4. A-I1. B-IIL. C-IV. D-1

Options :

68634055177. 1
68634055178. 2
68634055179. 3
68634055180. 4

Question Number : 95 Question Id : 68634013967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2aiig ] Adid u Ja

LISTI LISTII
A fe bl a1, Lo T [oiell ooyl 5,000 A
B. fesall Gunll o ol | T1 |l il
C. |ebonlil ol 31 e 22ie ITL. |opaliwall Slion iy JBGH pues 130
D fgsaill Mo s TV, |ols el i

Choose the correct answer from the options given below:

1. A-I. B-III.C-IV, D-II

| o]

CACIIL B-IV. C-1.D-TT
JCA-L B-IV.C-I.D-1I
4. A-IL. B-IIL. C-IV. D-1

Options :
68634055177. 1



68634055178. 2
68634055179. 3
68634055180. 4

Question Number : 95 Question Id : 68634013967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Adiig ] A S lea

LIST1I LIST II
A sl dh 1 lal I |l 34l s eeall & 00
B. fesdll Juall o gualdl ol | T | sl 54l
C. feloalll ol 3 Je e T fopaloall Ll lantly LT pos V3L
D. fgsaill e i IV, |ols el Emi

Choose the correct answer from the options given below:

1. A-I. B-III.C-IV, D-II

| B

CACIIL B-IV. C-1.D-TI
3. A-IL B-IV. C-1.D-1I
4. A-I1. B-IIL. C-IV. D-1

Options :

68634055177. 1
68634055178. 2
68634055179. 3
68634055180. 4

Question Number : 96 Question Id : 68634013968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

205 ] Al G s

LISTI LISTII
A Al GlLd I Jad
B. JJusl I sl
C. foll o b [IIL Fus udd
D. ol o IV, ot s

Choose the correct answer from the options given below:

1. AL B-1. C-IV., D- 11

| S

CACIL B-IL C-1LD-1IV

JLAILB-1.C-IV.D-TI

4. A-III. B-1I. C-IV. D-1



Options :

68634055181. 1
68634055182. 2
68634055183. 3
68634055184. 4

Question Number : 96 Question Id : 68634013968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

205 ] Al G s

LISTI LISTII
A Al GlLd I Jad
B. JJu sl I sl
C. foll o b [IIL Fus udd
D. ol o IV, ot s

Choose the correct answer from the options given below:

1. AL B-1. C-IV., D- 11

| S

CACIL B-IL C-1LD-1IV
JLAILB-1.C-IV.D-TI
4. A-III. B-1I. C-IV. D-1

Options :

68634055181. 1
68634055182. 2
68634055183. 3
68634055184. 4

Question Number : 96 Question Id : 68634013968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 Adiig ] A S lea

LIST1 LISTII
A AT L T T=n
e T
D. Jou <l o IV, il 5l

Choose the correct answer from the options given below:

1. A-IIIL B-1. C-IV, D- 11

| B

CACIIL B-IL C-1LD-1IV
3.A-IL B-1.C-IV.D-1I
4. A-ITT. B-11. C-IV. D-1

Options :

68634055181. 1
68634055182.2
68634055183. 3
68634055184. 4

Question Number : 97 Question Id : 68634013969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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205 ] Al G s
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Choose the correct answer trom the options given below:

1. A-T B-III, C-IV. D-11

| S

AL B-IV, C-1, D-II
J.A-IIL B-ILL C-IV. D-1
4. A-IV. B-1. C-II. D-1II

Options :

68634055185. 1
68634055186. 2
68634055187. 3
68634055188. 4



Question Number : 97 Question Id : 68634013969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Choose the correct answer from the options given below:

1. A- T, B-III, C-IV. D-11

| S

CA-IIL B-IV. C-I. D-II
J.A-IIL B-ILL C-IV. D-1
4. A-IV. B-1. C-II. D-III

Options :

68634055185. 1
68634055186. 2
68634055187. 3
68634055188. 4

Question Number : 97 Question Id : 68634013969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2aiig ] Adid u Ja

LISTI LISTII
£ sl s o I P —‘—f‘
ol L3 I j;l <

_,dfu atbie and ) | TIT. [

.C’O.CU?"

ol s s IV |oad

Choose the correct answer from the options given below:

1. A- L B-III, C-IV, D- 11

| o]

CACIIL B-IV, C-1. D-II
3 AL B-I1L C-IV. D-1
4. A-IV. B-1, C-II. D-1II

Options :

68634055185. 1
68634055186. 2
68634055187. 3
68634055188. 4



Question Number : 98 Question Id : 68634013970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Adiig ] A S lea

LISTI LISTII
A |—=s | g P S
B. |3l IO |hssk g
O aluds ITT. Bsisiall &5l
D. [ IV [ 25 anld

Choose the correct answer from the options given below:

1. A-IIIL B-1. C-IV, D- 11

| B

AL B-ILL C-1L D-IV
3. A-IV, B-IIL C-ILL. D- 1
4. A-IV.B-1. C-III. D-II

Options :

68634055189. 1
68634055190. 2
68634055191. 3
68634055192. 4

Question Number : 98 Question Id : 68634013970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S EpE 2 B t
205 ] Al G s

1ISTI LISTII
A |=s I | AEi
B. |3l IO |5k 0
C. ks IIT. Esiziadl &3
D [ IV |2l aml

Choose the correct answer trom the options given below:

1. AL B-1. C-IV., D- 11

| S

AL B-IL C-1L D-IV
JOA-IV. B-IIL C-I1. D-1T
4. A-IV. B-1. C-III. D-1I
Options :

68634055189. 1
68634055190. 2



68634055191. 3
68634055192. 4

Question Number : 98 Question Id : 68634013970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2aiig ] Adid u Ja

LISTI LISTII
A |=s I | 3B
B. sl I |k csm
C |okuls IIT. sl &5l
D. [ IV |2l am!

Choose the correct answer from the options given below:

1. AL B-I. C-IV, D- 11

| o]

CACIL B-ILL, C-1L D-IV
3.A-IV. B-IIL C-ILL. D- 1
4. A-IV.B-1. C-III. D-II

Options :

68634055189. 1
68634055190. 2
68634055191. 3
68634055192. 4

Question Number : 99 Question Id : 68634013971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Adiig ] A S lea

LISTI LISTII

| e 50 e 238 | o

il 5 Tuanll o il o] T il

Y | B g T Eelil o le
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Choose the correct answer from the options given below:

1. A-1. B-IV. C-1I. D-III

| B

CA-IV. B-IILL C-IL D-II
3. A-IIL B-1L. C-1. D- IV
4. A-I11. B-1I. C-I. D-III

Options :



68634055193. 1
68634055194. 2
68634055195. 3
68634055196. 4

Question Number : 99 Question Id : 68634013971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Adiig ] A S lea

LISTI LISTII

| e 50 e 238 | o

L5, ol el | 1T fal

Y | B g T Eelil o le

|||

TN R A W IRRA]

Choose the correct answer from the options given below:

1. A-1. B-IV. C-1I. D-III

| B

CA-IV. B-IILL C-IL D-II
3. A-IIL B-1L. C-1. D- IV
4. A-I11. B-1I. C-I. D-III

Options :

68634055193. 1
68634055194. 2
68634055195.3
68634055196. 4

Question Number : 99 Question Id : 68634013971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 Adiig ] A S lea

LISTI LISTII

| e G50 pS I

‘_':'.:..Inl_; \'__'\-_.I_U___._._ A II_ P gl

Y | B g T Eelil o le
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Re o, Cieadl, el | TV Foesit 21D

Choose the correct answer from the options given below:

1. A-1. B-IV. C-1I. D-III

| B

CA-IV. B-IILL C-IL D-II
3. A-IL B-I1. C-1 D- IV
4. A-I1. B-11. C-1. D-IIT

Options :

68634055193. 1
68634055194. 2
68634055195. 3
68634055196. 4

Question Number : 100 Question Id : 68634013972 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2aailig ] Al G e

LISTI LISTII
B | |50
C. |ous T [t
D s IV, Jeiaall 50

Choose the correct answer trom the options given below:

1.A-TII, B-1,C- IV.D-1I

| S

CA-TV, B-IIL C- 1, D-II
J.A-TV, B-IIL, C-II. D-1
4. A-TI. B-1, C-VIL. D-III

Options :

68634055197. 1
68634055198. 2
68634055199. 3
68634055200. 4



Question Number : 100 Question Id : 68634013972 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Aailig ] Al G Jea

LIST1I LISTII
B. oAl I |0
C. |Jowds I |-
D. |2 58 IV, sl Gsy

Choose the correct answer from the options given below:

1.LA-TII, B-LC- IV.D-1I

| S

cA-TV, B-IIL C- 1, D-II
J.A-TV, B-IIL, C-II. D-1
4. A-TI. B-1, C-VIL. D-III

Options :

68634055197. 1
68634055198. 2
68634055199. 3
68634055200. 4

Question Number : 100 Question Id : 68634013972 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2dailEg] ddl u Jea

LISTI LISTII
A |rea I |
B =T 1 S
C. s I |-
D. | s IV fisdl 550

Choose the correct answer from the options given below:

1.LA-III, B-1,C- IV.D-11I

| o]

CA-TV,. B-IILL. C-1. D-IT
3.A-TV, B-IIIL C-II. D-1
4. A-II, B-1, C-VL. D-III

Options :

68634055197. 1
68634055198. 2
68634055199. 3
68634055200. 4






